






  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  



 
 

  

  

  

  

  

  

  

 
 

  

  

  

  

  

  

  

  



























 

 













proc mixed data=pkparam; 
 by food param; 
 class sequence period trt subjid; 
 model lnest = sequence period trt /ddfm=kr; 



 random subjid(sequence); 
 estimate 'A vs B' trt 1 -1 /alpha=0.1 cl; 
 lsmeans trt /alpha=0.05 cl; 
run; 
























